6. &

C0601 FELHIROMEAEAE

CRME-RITEE

SERR2THIZ R I D12 AR E DLW EERRIE, — K [ELE 1535 C10,00015 0L L& 2L, — R IRE TILE H
RPERRDI3,4095 L7272 > TUNVD,

F6—1 THE Wi A28 B

T2 24,y R M | A s -
®Om 4 BOW s A | B R RE B R OPIIRRTT | R B e e e
&J\E% &J\E% §=in s i% E % % T(TTLXFIE Eﬁ
A A % km/h
Hh o B B EE R R A 2 — R IRIC ~ e
B AR A AL | 20.535] 32,930 26.9] 054|935 1 @Eﬁ%ﬁﬁﬁg
*EIC = 5
FHARA > 2 — BFHRIC ~ s
= 455 IR « B A~
i’g?ﬁ%@&%/ﬁﬁ%ﬁfr 20,535( 32,939  26.9| 0.54 93| 2 | e ikt Byt s
—fX[ELE 1537 EGHIRER S #5200 o
B A 252 B 5 AR 1 < T PR3 ~
(CKHEIMEIL 22 2250 15,201( 20,369 9.1 1.43 21.3| 3 o FR
i TR A8851—1 12,699 17,017 10.9] 1.59 e
BRI Pe A AR A ol . [Emmmas
) FEARE S E AR
SRR 5 AR~
26.0' |5 N e ke Bt
S E OB EAT4752-4 217l 374] 56.3] 0.94 -
: . N B FR T - AT~
i%/ﬁﬁ%ﬁ/ﬂ;ﬂ 234 6 |7 bt Bt
0.38 234 | 7 |BiART - A~
— % Bk AR T R HR6367 1,993 2,451 6.2] 0.46 -
A B R B FR T - AT~
SEARET S HLIGH 38.21 8 " n1sa
—fX[EE 1535~
819 | amppes
B R PR~
25.6 | 10 e i i
17.0 | 11 |EmREs~
—IRGE B ERIERE| O RERE AT 4657 R o
3,409 4,091| 3.0 0.52 265 | 12 | JREELS3S~
SR ME R
AR TH 5 AR T6419 -
SRR 5 AR~
1,538 1,846 1.8] 0.40 30.0 | 13 [Tk s i

TE) BHA C/RUI AT LI, AT EE DSBS T 5702 05 o [ 5 CHR
FFCETFRATRREE F72 13, RR224E DIRMERF R T I TR~ 7T,

B VR QTR AR [ENE B - TS Al 1 SRR A




e ———
. MRED e e
cqnemesr ==Y T N Naat i ~— ' v
i N pmantoy T < 2 wemys
G VE S e I P e

—_

fowere . \A\Trlllﬁll).ltl\l.:.”

L..-..g.-.,,.//l\.!‘ T Rl
.,. E\lﬂ\,r/ e

ir, —— Pt
3 >

S e | e

T
6
6
B

10 0¥

6¢~00¢

¥ 0°0¢

O
]
6E~0°0€ m—
| ]
| ]

(Y/ W “H)
EEBLY 1ok SHBEE!

e .Nac.‘
V2

(LA o) PR e 0 S LU g A gt 1T — 9]




C0603 #KE-HEEHEFDIKR

K6—2 TEHCREAE (1 H ) (BT : N)
JRE HBUE, it LI B E S Eow  JREME| £ %k RE @R
TWD, FR21IFED TR N B 13642
%, PR 147 780 PRk 2145 642
SR LOEND SRR 29E £ TOREE AN B TR 124F 790 TRk 224F 690
DB Z B DL SRR IAFE LI 600~ | pk134e 734 SR 234F 678
T00ADREHEBL T 2. TR 144 696 244 674
TR 154 674 Rk 254 694
PR 164 668 FRR264F 650
TR TAE 622 R 2T 658
PR 184 674 RRDPALE 700
TR 194 670 R 294 676
FORE: R B R (B 12H HUE)
O X6—2 ‘E HEGREANBOHER (1 H )
900
800 =
700 H - f-{ | ] e T e = -

H10 H11 H12 H13 H14 H15 H16 H17 H18 H19 H20 H21 H22 H23 H24 H25 H26 H27 H28 H29 ()

C0604 /NAMDIKR

R, B, 4R RBREEO E AR ~1%, P BB EEZRH T oE s N A>T BRI R EL
Tb \éo

B T BT I AT 255 S AR S AL AR L3 O [EE AR OB 11220 BIEITa<EL RO F 7
AT BT IRER AR D I LT > TUND,



